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>>num = [2 1];

>>den = [1 3 2];

>>H=tf(num,den)
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Συνάρτηση Μεταφοράς

2 s + 1

exp(-2*s) * -------------

s^2 + 3 s + 2

>>num = [2 1];

>>den = [1 3 2];

>>H=tf(num,den,’inputdelay’,2)
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>>num = [-0.5];

>>den = [-1 -2];

>>k = 2;

>>H=zpk(num,den,k)

Zero/pole/gain:

2 (s+0.5)

-----------

(s+1) (s+2)
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x
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>>A = [0 1;-5 -2];

>>B = [0;3];

>>C = [0 1];

>>D = [0];

>>sys=ss(A,B,C,D)

a = 

x1  x2

x1   0   1

x2  -5  -2

Matlab Output

b = 

u1

x1   0

x2   3

c = 

x1  x2

y1   0   1

d = 

u1

y1   0
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>>num = [2 1];

>>den = [1 3 2];

>>Ts=0.4;

>>H=tf(num,den,Ts)

Transfer function:

2 z + 1

-------------

z^2 + 3 z + 2

Sampling time: 0.4

Matlab Output
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>>num = [-0.5];

>>den = [-1 -2];

>>k = 2;

>>Ts=0.4;

>>H=zpk(num,den,k,Ts)

Zero/pole/gain:

2 (z+0.5)

-----------

(z+1) (z+2)

Sampling time: 0.4

Matlab Output
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nx

nx
n

>>A = [0 1;-5 -2];

>>B = [0;3];

>>C = [0 1];

>>D = [0];

>>Ts= [0.4];

>>sys=ss(A,B,C,D,Ts)

Transfer function:

2 z + 1

-------------

z^2 + 3 z + 2

Sampling time: 0.4

Matlab Output

a = 

x1  x2

x1   0   1

x2  -5  -2

Matlab Output

b = 

u1

x1   0

x2   3

c = 

x1  x2

y1   0   1

d = 

u1

y1   0

Sampling time: 0.4
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sys = series(G1,G2)

sys = parallel(G1,G2)

sys = feedback(G1,G2) 

G1(s) G2(s)

+
G1(s)

G2(s)

+

+
G1(s)

-

G2(s)



sys = G1+G2;

sys = G1*G2;

sys = inv(G1);
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%*****Numerator & Denominator of H(s)

>>num = [0 0 25];den = [1 4 25];

%*****Specify the computing time

>>t=0:0.1:7;

>>step(num,den,t)

%*****Add grid & title of plot

>>grid

>>title(‘Unit Step Response of H(s)’)



Unit Step Response of H(s)
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%*****Numerator & Denominator of H(s)

>>num = [0 0 25];den = [1 4 25];

%*****Create Model

>>H=tf(num,den);

>>step(H)

>>step(10*H)

10 ( )u t
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%*****Numerator & Denominator of H(s)

>>num = [0 0 25];den = [1 4 25];

%*****Specify the computing time

>>t=0:0.1:7;

>>impulse(num,den,t)

%*****Add grid & title of plot

>>grid

>>title(‘Impulse Response of H(s)’)
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%*****Numerator & Denominator of H(s)

>>num = [0 0 25];den = [1 4 25];

%*****Use ‘bode’ function

>>bode(num,den)

%*****Add title of plot

>>title(‘Bode plot of H(s)’)



Bode plot of H(s)
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%*****Numerator & Denominator of H(s)

>>num = [0 0 1];

>>den = [1 0.8 1];

%*****Draw Nyquist Plot

>>nyquist(num,den)

%*****Add grid & title of plot

>>grid

>>title(‘Nyquist Plot of H(s)’)



Nyquist plot of H(s)
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Unit Step Response of G(s)
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